The dawn of de-extinction
TALK

e Key words
Deciduous: that loses its leaves every year (opp. Evergreen)
Sorrow: grief: OAlyn, mévog
Mourning: mévBog
Molecular: popLakog
Tissue: 10T66 (BLoAoyia)
Genome: the complete set of genes in a cell or a living thing: yovibiwpa (gene: yovidio)
Allele: one of two or more possible forms of a gene that are found at the same place on a chromosome:
aAAnAopopdo
Primitive: mpwtdyovog
Abundant: existing in large quantities, plentiful: d$Bovog
Hybridization: uBpLéLopog
Coo: sound made by a pigeon
Liquid nitrogen: uypo alwto
Respiration: breathing: avanvon
Intact: undamaged: aBiktog
Viable: feasible: ediktog
Pluripotent: moAuduvaypog
Stem cells: BAaotokUTTO PO
Hard-wired: kaAwdlwpévog, apeoa cuvdedepévog, Eudutog (e6w)

Source: https://www.oxfordlearnersdictionaries.com

https://www.wordreference.com/engr

e  Watch the talk and do the exercises that follow.
A. For the following sentences fill in the blanks with a word or short phrase.

1. This had been the Most ......ccoeceevviveeeieennnenne in the world that'd been in North America for six million
years.

2. They were so dense that hundreds of hunters and netters could show up and ..........ccccceevevneiecevieenns
them.

3. IEWAS e for its feathers.

4. This was an animal that basically kept the forest mixed with..........ccccooeeeinevecennne. across the entire
Europe and Asian continent.

5. | started with my wife, Ryan Phelan, whoran a........ccceeeveveeevennnene. called DNA Direct.

6. All she needed from those .......cccoeveeeieececcececirienne at the Smithsonian was a little bit of toe pad tissue.
7. Then the question is, .......ccceeveeieeeceveriseereeceeene , with that genome, the whole bird?

8. It's kind of like @(N) ..cceeveeeeeeeieeeecee e machine.

9. You try combinations of that you write at the cell level and then in organs on
a chip.

10. So what you're getting is the capability now of replacing one gene .......cccovevvevevevevccicriennen. of that gene.
11. Some interspecies clones have .........ccccceeeeeveececenennene. problems.

12. Oliver Ryder has collected the ........ccccueeeeeveecicrnns from over 1,000 species for over ............... years.


https://www.ted.com/talks/stewart_brand_the_dawn_of_de_extinction_are_you_ready#t-613796
https://www.oxfordlearnersdictionaries.com/definition/english/gene_1
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13. At -195°C cells and DNA are .......ccccceeuevreneecnenee
14. 25,000 elephants a year are still killed for .........ccccevveevrnecnnnnnn.
15. California condors are a good example of ...............c.c............ breeding.

16. For some species like northern white rhinos, of which no breeding pairs are left,.......ccoceeveniennneee. from

........................................ is the answer.

Watch the talk again if you need to and answer the questions briefly about what Stewart Brand says. You

can choose English subtitles.
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. What area did flocks of passenger piSEONS USE 10 COVEI? ......couiniierieiririee sttt sttt ses e s sseses e senenes
. How long did it take for this species to become eXLiNCt?......cccueer it e e
. What was the passenger pigeon hunted for?..........cccevvvvrinierrcercinennn
. Which species was hunted for its fFEAthEIrs? ... s st se e e

. Where did the EUropean AUIrOCRS [IVE? ..........o ittt sttt s e st st bt s s e
. What could be used to bring extinct SPECIES DACK? .......voeevveiveereie ettt v s et e e nens
. Why did Dr. Beth Sapiro need to use toe pad tiSSUE? .......ccccueeriiiieeiiieieciie e eseee e eeeeee s
. What does National Geographic mean with the term ‘discovery’ in the 215 century? .......cccceoevveeevrerreeennns

10. According to the speaker what do we have to do, as a species, after what we’ve caused to the

enViroNnMeNt fOr 10,000 YEAIS? .....ccceieciviereerieeeresceesteteeseeseeststesassesseeasessasassessesassassseeseesessssessensessssesessensessssaseseeses



